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Which object is the farthest to the house?
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Tom measures the length of his pencil. Which of the following is the
correct toll and the result of his measurement?

In which one % is modelled incorrectly?
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A4 size papers are divided into different parts and colored. Which is the
correct comparison of the amount of colors on the papers?
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Which pair has an equal number of small squares?
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Which of the following is incorrect for the figures A, B, C, and D?

A) The perimeter of A is 40 cm

B) D has the greatest perimeter.
C) The sum of the perimeters of B and C is equal to the perimeter of D.
)

D) A and D are squares; B and C are rectangles. A)t1and2 B) 2and 3 C)3and 4 D) 1 and 4
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ti ti our total price our total price our total price
sounting counting is €10 is €7 is €11

direction » direction »

1st 2nd
Counting block Counting block

our total price
A) 49 B) 50 C) 51 D) 52 ISEARE

How much is our total price?

A) 12 B) 14 C) 16 D) 18



Tina buys 3 kg of pineapples and 2 kg of bananas with her money. How

much money is left in her purse?
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How many different paths are there for the rabbit to reach the carrots?

A1 B) 2 C)3 D) 4
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What is the difference between the largest and smallest number given?

A) 255 B) 325 C) 440 D) 290
A) 817 B) 482 C) 743 D) 847



N

t4
»

wo ¢

How many pieces of cheese will you get if you cut the cheese above into

the pieces shown below?
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Hans puts black circles on the unfolded form of a cube so that the sum
of the dots on the opposite sides is 9. When folded the cube is seen as
in the picture. Which of the following is the unfolded form of the cube?
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Date of Final Round

Sum of the digits
2+7+0+2+2+0+2+2

When is the next date which has the sum of the digits same as the given

date above?

A) 17.03.2022
C) 26.02.2023

B) 08.03.2022
D) 02.09.2022

Length of movie

‘ﬁ. 100 minutes

What time will the movie finish?




Jumps one Jumps two

step at a time steps at a
time
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At which number will the frog and the rabbit meet?

A) 11 B) 12 C) 13 D) 14



